








a) Rs. 61

b) Rs. 58

c) Rs. 95

d) Rs. 68

Find the difference between the compound interest and the simple 

interest on Rs. 8,000 for 3 years at 5% interest. 

3 वर्षों के लिए 5% ब्याज की दर से 8,000 रुपये पर चक्रवलृि ब्याज और साधारण 

ब्याज के बीच अंतर ज्ञात करें।



a) 4%

b) 10%

c) 6%

d) 8%

If Rs. 14,500 becomes Rs. 21,460 at simple interest in 6 years, then what 

is the annual rate of the interest?

यलद रु.14,500 साधारण ब्याज पर 6 वर्षष में र. 21,460 हो जाता है, तो ब्याज की 

वालर्षषक दर क्या है?



a) Rs. 50

b) Rs. 100

c) Rs. 125

d) Rs. 147

If the compound interest on a certain sum for two years at 3% p.a. be 

Rs. 101.50, then what would be the simple interest on the same sum for 

same period ?

यलद एक लिलित रालि पर दो वर्षष के लिए 3% प्रलत वर्षष की दर से चक्रवलृि ब्याज 

101.50 रुपये है, तो उसी रालि पर समाि अवलध के लिए साधारण ब्याज लकतिा 

होगा?



a) 4%

b) 3%

c) 6%

d) 5%

At what rate of compound interest per annum will a sum of Rs. 1,200 

becomes Rs. 1,348.32 in 2 years?

लकस वालर्षषक चक्रवलृि ब्याज की दर से रु. 1,200 की धिरालि 2 वर्षों में रु. 1,348.32 

हो जाएगी?



a) 750

b) 600

c) 712

d) 150

If a number is first increased by 15%, then reduced by 15%, it results 

in 782. If the same number is first reduced by 25%, then increased by 

25% and again reduced by 20%, then what will be the resulting 

number?

यलद लकसी संख्या को पहिे 15% बढाया जाता है, लिर 15% घटाया जाता है, तो 

इसका पररणाम 782 आता है। यलद उसी संख्या को पहिे 25% घटाया जाता है, लिर 

25% बढाया जाता है और लिर से 20% घटाया जाता है, तो पररणामी संख्या क्या 

होगी?



a) 0%

b) 5% increase

c) 5% decrease

d) CND

If the price of an article is decreased by 20% and then the new price is 

increased by 25%, then what is the net change in the price?

यलद लकसी वस्तु के मूल्य में 20% ह्रास होता है और लिर िए मूल्य में 25% वलृि होती

है, तो मूल्य में िुि पररवतषि लकतिा हुआ है?



a) 2000

b) 6000

c) 3000

d) 3200

In an election, there were only two candidates. The losing candidate got 

48% of the total votes. His opponent got 6000 votes more and won by a 

margin of 3% votes. What was the number of invalid votes?

एक चुिाव में केवि दो उम्मीदवार थे। हारिे वािा उम्मीदवार कुि मतों का 48% मत 

प्राप्त करता है। उसका प्रलतदं्वदी 6000 अलधक मत प्राप्त करता है और 3% मतों के अंतर 

से जीतता है। अवैध मतों की संख्या क्या है?



a) 15000

b) 6000

c) 3000

d) 12000

The total population of a town is 18000. The male population increases 

by 70 percent and female population increases by 40 percent. If the 

total population becomes 27000, then what were the initial number of 

females in the town?

एक कस्बे की कुि जिसंख्या 18000 है। पुरुर्ष जिसंख्या में 70 प्रलतित की वलृि होती

है और मलहिाओ ंकी जिसंख्या में 40 प्रलतित की वलृि होती है। यलद कुि जिसंख्या 

27000 हो जाती है, तो िहर में मलहिाओ ंकी प्रारंलिक संख्या क्या थी?



a) 22%

b) 20%

c) 25%

d) 21%

The price of sugar is increased by 25%. If a family wants to keep its 

expenses on sugar unaltered, then the familiy will have to reduce the 

consumption of sugar by:

चीिी की कीमत में 25% की वलृि हुई है। यलद कोई पररवार अपिे चीिी के खचष में 

कोई बदिाव िही चाहता है, तो पररवार को चीिी की खपत में लकतिी कटौती करिी 

होगी?



a) 300

b) 500

c) 200

d) 400

In an examination, a student scored 65% marks but was 20 marks 

below the qualifying marks. Another student scored 80% marks and 

scored 10 marks more than the qualifying marks. Total marks of the 

examination are:

एक परीक्षा में एक छात्र िे 65% अंक प्राप्त लकए िेलकि योग्यता अंकों से 20 अंक कम 

थे। एक अन्य छात्र िे 80% अंक प्राप्त लकए और योग्यता अंकों से 10 अंक अलधक प्राप्त

लकए। परीक्षा के कुि अंक हैं:



a) 16

b) 24

c) 32

d) 40

If a number 5x423y is completely divisible by 88 then find the value of 

5x - 8y.

यलद एक संख्या 5x423y, 88 से पूणषतः लविाज्य है तो 5x - 8y का माि ज्ञात कीलजए।



a) 9903

b) 9777

c) 9867

d) 9787

Find the four digit largest number which when divided by 30, 18 and 20 

leaves remainder 3 in each case. 

चार अंकों की सबसे बडी संख्या ज्ञात कीलजए लजसे 30, 18 और 20 से लविालजत करिे 

पर प्रत्येक लस्थलत में 3 िेर्षिि बचता है।



a) 7 , 8,  9

b) 10 ,  11, 12

c) 8 , 9 , 10

d) 5 , 6 , 7

The sum of the squares of three consecutive natural number is 194  , 

then find the sum of these numbers ?

तीि क्रमागत प्राकृलतक संख्याओ ंके वगों का योग 194 है, तो इि संख्याओ ंका योग 

ज्ञात कीलजए?



a) 1

b) 2

c) 4

d) 6

What is the unit digit in the product (गुणििि में इकाई अंक क्या है?)

(365 x 659 x 771)?



a) 2

b) 3

c) 6

d) None

What is the unit digit in the product (गुणििि में इकाई अंक क्या है?)

(4635 x 8539 x 2712)?




